Yz € X Ym -~
) /
(xy):20,30) (¢0,50)
—ZW‘; — F[DO(SS:DD(UT!LJ/; =3 }Ln (YTQXD(WIZ‘Q‘,{
. 1 T 7 il
== ‘ -2 »' : Ico‘(j v

o Ar{l:. V; 2 mv; _DQN x; 1oy
Vi—%;%nﬁf& L= i'.,-- v

/
‘f)a,.b;ﬂsxp_duﬁzpm_,&énmm. loviEdesTés

Xi-'hLéS TiaS Frlf-,?s' S erdfbﬁm’mj
v /A LI | ¥

] r

[ARTRETIRTIE

L '1\55‘13) Ty'zS drxmm)_éuqs Lflo(%ﬂmpls

EL 1()1(0001 mm/fn,o(—o( dDUDXETluIF S c.w §uo -ruvouEs }Jﬁyﬁgmzs
LE T€(s:)< Q, Vv(r‘(h)-c DG T0
R\ P SRSy

‘ﬂb_: Po +piXT  — U TY (T()LD(F'IMOM neiuSpo 4oy §
&= YL—BQ—B‘X-- Yi- E(%)
Vpﬂ*(Y) =5" Yo po 4,1 ,5%)




=
=

!—’%MW“L%M@MM -

| 1
MITUV  TEILAADUD V-
114 ( U

Jpo

; ‘.( < 9 :L(y Z =) A _‘1
!: &, & ﬁ!)— 5'24 = =< w—@o-’ﬁl)ﬂ) ——)mm_ﬁo_,_@_* ——
- - 4R N S
IO = -2 2 Wi-po-pry)lcol> DVionfosp2xc (15
=

|

DQ_;_‘LZ(Yc - f)o - ,6 )G)Yi (:o)’“_,Z)(;Y; :ﬁCZX:)«;Sﬂ..ZXEQ ZEL*—;
D =1 =/ tzi i=) |

o
A

or (i);(i\ E,_{yg,(_ (o] lﬁm\—LLQS éjlcu:t;u—S

Pl

+Pr o Lxyy - 22T = Z(xz—R)(Y:-F) J
B 7 2 (x: = %)*

—

A‘ :7 D h’z =2 E
FO ~2) 0 _ 27%? |

\ \ |
\Dfo 28, OB’ / )
- [Al=Yn 224 (2 x.:)? = Hn 2lxi-%) 50 :

—
=
—
; (Y0 _3, 2 D%




%o 100+ 2.0+ %

- -Vi-n = U’OQ{)IO‘X

. le TYIES TmS leLEmmS Mb'ﬂnﬁmi noé\:v&d.naus

4\ |0 ;E’_Vi{_(‘) &YC(XJ,S “Iu.)v no/(p/'M'Q»u&vv ( ’\ EAVOL CV;ILEA'Q_THS
_afkies ol o ?-&mx—vﬁ; tpix=Y

4 -
‘T.l) '2(:’.4::0 X0 ' (V;"Yi): ZY( ’2('601@'}[)’-

iil);&lxtzo lbnoa\‘ z(YI-?I)XI— 2(Y ETD

03)

X

-

:;_n;XIY: = 'él‘)ZXi = FB\‘ZXE‘? ...O ’amO' TUV. YOUK Y 'Z\ i
n“ -~

-2 4= n—2
= LI B
b
O __“zurggmmo a}mflo(




